AP R RENFET 5 (RI5) B 5 B #

SF6EFE4H8H (A®ER)
Fx ENFE#S 2145 b

(B ILHEREST)
BE ox e HIFE R (ko) 1 #Y3E Xt ERE |
a—F AH Y5 | EREE] | Efike) fEM) | {EFE) BER) | $EE) | REF)
13010072V A [y 16,815
130100|7 W A RI& 16,680 16,330 12 1,523 864
13010072V A BIR S 135 135 15 1,296
130340 ICA LA e 11,910
130340 ICA LA S 8,540 8,540 10 4,266 1,944
130340 ICA LA Ri& 2,400 2,400| 10 3,456 2,484
130400| 1% 5 iy 2,016
130400 1% 5 Eix 1,990 1,450 10 3,240 1,566
130500(7z 7> iy 3,457
130500|7z1F > & BiR 1,088 1,088 4 3,888 864
130500(7z 7> & &I 2,090 2,090 2,916 1,080
130600{1 A T A HE 995
130600|1LA Z A ES 840 840 5 5,400 1,080
131100(B 3% e 13,470
131100 B3 B3 11,220 11,220 15 5,940 1,080
131100{A 3 Ri& 2,250 1,950 15 1,728 1,620
131700|F v+ R [y 27,200
131700(%F v~ =5 16,910 14,800 10 2,160 864
131700(%F v ~ & 8,690 7,440 10 1,404 756
131800(I1F 53 A E HE 956
131800(IF S MAE & 356 441 0.2 151 93
131800(1F 5 WA E & 405 401| 0.18 162 108
131910|Fh & [y 1,344
131910|F & KR 19 18] 05 702 302




131910(Fh & BE 68 66 0.5 324 265
131910|F R & i 1L 255 255 1 594 270
131910(Fh & &I 923 923 10 2,754 1,080
131950|H A& ¥ 3,090

131950(BE & =SS 210 0 125 5 2,430 1,296
131950|H A& SR 1,170 0 891 3 1,404 648
131950(BAh & RS 30 0 30 3 1,404 1,188
133400 L % X ¥ 17,268

133400|L % & I 7,080 0 6,780 10 2,160 1,620
133400 L % X 5B 7,120 0 6,260 10 2,484 1,836
133400|L % & wE 1,500 0 1,100 10 3,240 2,160
133400 L % X =1 288 0 160 4 2,376 1,512
133400|L % & R 1,280 0 1,280 10 2,160 1,458
134100 (#A K ToE 14,415

134100|8A/X wE 3,800 0 3,700 5 2,462 1,512
134100|8AM = A 1,645 0 1,495 5 2,538 1,620
134100|8A/X =y 7,960 0 7,170 5 2,592 1,674
134100 (#A K B IR 675 0 675 5 2,106 1,566
134200|F /M ¥ 460

134200|m /X —a1—-Y—2vF 460 0 460 10 1,782 1,728
134300|50F ¥ 7,110

134300|30F & 790 790 2 1,080 648
134300|50F =N 5,431 5121 0.27 130 119
134300(71F =1 329 258 4 2,160 1,836
134400 b~ b ¥ 11,301

134400| k< b o5 1,406 1,406 1,944 1,512
134400 k< b REA 9,731 9,711 2,376 1,080
134500 &' —~ > ¥ 7,338

134500 "—~ ~ = Al 1,566 1,566 0.15 108 97
134500 &' —~ > = IR 5,546 5,546 0.13 108 92




135100 WA F A ¥ 90

135100| W A LT A BEIR 40 40 2 2,592
135200|%= ¥ 120

135200|%= AN 90 84 2 4,104 2,268
135200|%= FNEL 30 30 2 2,808 1,080
135300 &"— X ¥ 430

135300|— X FNERL 130 130 2 2,376 756
136100(AA L & ¥ 20,430

1361001 A L & T 13,200 800 5 1,728 1,080
136100(AA L & & 2,430 2,350 5 1,944 540
1361001 A L & Ry 4,750 4,750 1,728 1,080
136200|E 5% ¥ 20,900

136200| %5 timE 15,200 15,200 10 1,944 270
136200(F % B IR 5,700 5,680 10 2,290 1,836
136210| X —27 4 >~ ¥ 8,960

136210( X —7 1 ~ time 8,450 8,090 10 2,052 486
136210| X —27 4 >~ RS 510 510 10 2,506
136300|2F TeE 350

136300|8%F EiE 250 240 10 5,184 2,592
136600|7z & ¥ 21,595

136600|7- A & Jtime 11,940 11,940 20 2,808 2,074
136600|7z & 5B 9,535 9,535 10 2,754 756
138100|& L Wiz lF ¥ 1,259

138100(& L W /o lF i 1L 268 268| 0.08 73
138100|& L Wiz lF wE 796 765 0.1 173 86
138500| L& LE ¥ 1,226

138500| L& LE K% 1,213 1,015 0.2 86 76




AP R RENFET 5 (RI5) B 5 B #

SF6EFE4H8H (A®ER)
LSS ST E 165 bk

(B ILHEREST)
28 os e MR (k) 1% #YFE RS E]
a—F AH Y5 | EREE] | Biike) | &EM) | S{EFM) | REFE) | SEFA) | $EE) | R{EM)
241260|HE AN A Eoe= 1,810
241260|HE AN A g 1,800 1,800 10 1,728 1,296
241260|HE AN A EIRS 10 10 10 2,700
241450(B R HoEK 690
241450[F R ML 690 0 690 10 4,320 2,160
241481|F Ry A h A | 303
2414817 R AHh A | ES 303 0 303 5.2 2,160 1,080
242830|.5 LW AT bioese 500
242830(3 LW AT B 500 0 500 10 5,076
243950(U'h bioese 25
243950( U Rg 25 0 25| 0.25 734 594
246000|L B & T 12,933
246000(\ 5B & EE 393 151 2421 0.25 432 173 454 346
246000|L B & I 732 0 636 0.25 356 205
246000({\ 5B & & 2,806 0 2,701 0.27 432 194
246000|L B & Rz 2,949 0 2,871 0.25 378 194
246000({\ 5B & REAS 5,579 0 4,790 0.25 346 162
246000|L B & = I 476 0 387 0.23 302 216
247100| 7 — 2 XAy ¥ 197
247100| 7 — LR A AV B4 197 0 197 9 24,840 10,260




